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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

SEVENTH SEMESTER
MECHANICAL ENGiNEERING
ME 1007 — PROCESS PLANNING'AND COST ESTIMATION
(REGULATIONS 2007)

Time : Three hours R Maximum : 100 marks

Answer ALL questions.
PART A — (10 x 2 = 20 marks)
1. Define Work meagurement.
2. State the importance of work study in industry.

3. Compare conventional process planning and computer
aided process planning.

4. Why costing is essential to industrial control?

Distinguish between estimation and costing.

;

6. Define Cost Accounting.




[image: image2.png]7. What do you understand by a realistic estimate? State
importance in production.

8. What are the factors by which profit will be deci
during estimation?
9. What are the methods for allocation of overh
expenses?
10. Distinguish between direct labour cost and indirect lal
cost. ‘
PART B — (5 x 16 = 80 marks)

11. (@ Explain iw detail about the following mot
study tools -(1) motion economy {2) no
motion analysis (3) therbligs analysis.

Or

) () Briefly discuss about various technique
work measurements.
i

(i) What is SIMO ehart? Mention it uses.

12. (a) -Explain the criteria of selecting operating seque
and machine selection in process planning.

Or

() Explain how the manufacturing logic, produ
time and eptimal cost are used in process planmni

13. (a) Explain in detail the classification and elemer

cost.
Or
(b) Explain the objectives of cost estimation and
accounting.
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Discuss about the allowances permitted during

estimation. ®

Explain the different types of estimates. ®)
Or

Briefly explain about requirements for cost

estimating. 8)

The estimated time of a lathe is 10 years and it
works 16 hours a day. The initial cost of the
lathe is Rs. 80,000, and scrap value after
10 years is Rs. 25,000. If the machine works
for 5840 hours in a year. Calculate the rate of
depreciation charged annually under machine

hour basis method. 8)
Explain the estimation of material cost with
examples. @8)

A component is produced by AB enterprise in
batches of 500. The direct material and labour
cost are R. 200 ad Rs. 250 respectively. Factory
on cost is 45% of the total material cost
overhead charges are 25% of the factory cost.

« Calgulate prime cost and factory cost. If the

management wants to make a profit of 15% on
the tota] cost. Determine the selling price of

each/eomponent. 8)
T Or

Describe the various steps involved in

estimating the labour cost. (8)

Explain the estimation of cost for making
patterns in the foundry shop. 8)





